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Trigonometric equations
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Learning outcomes Prove the trigonometric functions,the inverse trigonometric

functions. And solve trigonometric equation.
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Intended destination Find the answers to the trigonometric equation ,given the

interval.
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Trigonometric equations
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2. The answer of trigonometric equation WUela 2 wuu Ao

2.1) MU (MUUALAANENINSUILA) given the interval. of answer

2.2) ﬁmaulugﬂﬁhﬁﬂﬂ (aimuuatenanduimsunli) No given the interval of answer

Solving trigonometric equations, given the intervalof answer

Alternate Example1 Solve algebraiccally for exact solutionsin the interval 0 < x < 360"

cosx =0 3) 2sin’X +€0s X =1
. r 3z Solution 2sin?x +cos X —1 =0
SOlutIOﬂ X :E y 7

3 2(1-cos X Hcosx-1=0
a0l {g , 7”} W50 {900, 270°)

2) sin’x =1

Solution Sinx :i\/I .................................................................................
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sinx =1 #¥I9 sinx =-
s
X = NI x=
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1) tanx-+3cotx +1 =43

solution tanx-+/3 e

ANARBARIY tanx

1
tan x

+1-43=0

ﬂzlé]ltanzx—\/gﬂanx—\/gtanx:o
(tan’x-+3 tan x)+(tan x -v3 ) = 0
tan x(tan x -4/3) +(tan x -3 ) =0

vaudaumsanlUil e 0< x <27t
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. 4sin2x—3=0
tanxsinx +tanx =0
. ZCOSZX'\/ECOSXZO

.3 .
.4sinx—sinx=0

.2
.sinx-cosx+5=0

.3secx-cosx+2=0

V3 csczx+2cscx=0
» X
cos 2x + 2 cos E=1

25in2X-3 cosx—3=0

10. cot x + 2sin X = ¢sc X

5) /3 cos x —3sinx =0 (LUﬁSULﬂuWQﬁ%}u‘leﬂﬁ)

a=-3b=3, Aunsen
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Va2 +b? 2‘@
1
x(\/gcosx—3sinx:0)
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2. sin?x =1 ey { &, 3
2’ 2

3. 2sin’x+cosx=1 @0U { O,

4)tanx- 3 cotx +1 = /3

m tanx-\/§- ! +1f\/_=0
tan x

AUANOANIY tanx

9214 tan2x — V3 + tan x - V3 tan x = 0
(tan’x- /3 tan x)+(tan x -3 ) = 0
tan x(tan x -+/3 ) +(tan x -3 ) =0

(tan x -3 )( tan x+1) =0

tanx=\/§ -1
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5)V/3 cos x —3sinx =0 (Lﬂfﬁﬂmﬂuﬂqﬁ%u%ﬁ)

a=-3,b= 3 , auAaeadiy =1
JaZ +p2 23
1
x (3 cos x—3sinx=0)

243
sin30’cosx-c0s30 simx=0
sin(30"-x)=0
Ao {30,210}
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